
Day 3
t

-

2dtopologicakytwrsteldFTRe.cat
: Poisson algebra of bulk local ops ← Ez algebra

(t higher ↳ opes
Q- uh

0ps

For any boundary condition B E 113dg there's an associative alg
Cthxstw A- a ops)

B = End
Bay ( 1B)

Mindon
pips : Ops → B

respects the product ⇒ factors through 2-CB)
.µp%, ⇐ B -

- Enders)
bulk E

, 3 preserves her peers exercise
algebraically , b. e . are isotropic .
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• assaoealg . of bdy local ops I

Deniudbulhgmp pder : Ops Is HH
.

( B )
For any 1B E IBdy , let B End

dy UB) Hochschild cohomology ,
te derived center

If 1B is large enough ( i.e . generates 113dg ) ⇒ HH
'

CB) = : HAUB dy)
then pdr is an 'isomorph" 'm .

. - ← * - fi! µ
.

p.hr =

ntoo Pn Po
-
-

ordinary b. 5. mop

g. → µa,
p.la) e Hornet B ,

B)

Pala) e Home ( Bor , B) :[ fab = Pila) Cb)

AG)

k¥5,2 am

pulas e- Home ( Ben , B) §!!!!"C
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Exempts s B -model to ① Tyco) 251=0

X " free
"

4. x :&, Pobre) = 0 poles = x

pi (4) 43--1 pix) = O

/ e g
,"i§×

ie ' P'4) acts as 2x on B -

- ecxz

÷
-

CA. )Generates : Math : for any object 1B e- 113dg them's a functor
F : 113dg → B - mod

En
'

'dUBIIA ↳
HowieB. IAS% :/; "¥E"" I say ④ generis

"

if e. is an .gl?:IwufdenimdlA.eats .
Almost sufficient : Itounujiy ( 1B , IA> toff Ate BY



4
Example B -model to Q O G-

~ skyscraper at 0 Go
~ G

D
"'

generates! D
'"

also generates II restrict
End - 043 End a ①Lyz to ⑨ quint

streams
Db Cohl Q) - Db Gets -mod

Db Qb] - gr -mod - D
'

city] - gr -mod
-

(equiv) Col sheaves

there interesting B -motel
-

target If , W : H - Q 72 graded if give functions on FLalgebra'm
nonzero coli - degreest.tw/--2BVaotrinllacallg3Jussi d Xi t W (x)

1122

ns



§
Buth local

ops
= Q [ Dcritlw) 't deformation of ALTENA]

same algebra tdrffnntt Q Effi ,xi2
5

Et
. Q (Xi ) -- O Z

Q Gti) : 2z×iwc×)
axi

Exercise : derive from BV aether
. Compute QX -

- ES , Mov etc
.

Examine H -
- Q'

x. y ,z W - XYZ Bath : Glx
, y ,z , Harty . -42-2

Note { S.S3.su = fun
,

dlzfixistdw Q4x=yzQ4y=Xz
= ftp.go,2EiX

"
t W Q4z=

xy
Simplest b.c are Lagrangian in THD Q' 4 WIIl

-

M
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Three good b.e .

? D#xle04yl#to I

Dm X 1=0 4, I = Yzf = 0

use:÷÷ """'

:÷":::÷gz=z
Du' Xl = O y 1=0 zfzl = O yr

trades
Q for N.C.End (Dh') = & Lux . Hy , 2- Iset 2- to nonzero

constant

C t.i.it ""ie:÷÷T÷÷
-4×4 y e

- S
-

- Herty Seas, - ¥57 + L L - way

÷
exercise !

( 21×10 ) Hy LD t Hy (034×4) ) = Z



§
Do' Xl = YI -

- 21--0

End (D"') ⇐ ① Lux , 4g , -422 No Q since 2W 1=0
A- algebra No NC since 22W 1=0

Y
Ms (Ux , -4g . Uz) = 2W2x2y2z I

g
"' ) to . Mirror of Wxyz is Fung) oo

y =

Birdy - Ende Dei 't -grind * i. i. a ,

( Q. equiv . ) A⑥ Ms

X y z
X Y Z te Uy Ue.

I l -z
cob degree : p p O o o ,

Iwl - o
(oh Lt ) means Klay't] -mod

as a graded algebra



Stanard §
Math answer for 113dg - MF ( H, w)

* ' W
objects are complexes of sheaves E

'

on tf
w/ an endo Ye :

EqSt 141=1 and@W
Hour

.

( ( e: yes , CF,y⇒) des 2 2

= Hour
.

( Ea
, Fa) , Qa = aye - yea

ye
'

-

- W cancels out Qb;'m = ES
, S3 Bv =

- fbdywIt

2

Qbdg Cclsulhtclbdy)' = W - W - O

Ye

In 2h setting , Eo
M

El yup , =p . go = Wid
u

o line ops or Cody of a 45dB -mohl HE
¥1


